C17/N

## SLUM REHABILITATION AUTHORITY

No: SRA/Maint. Sec./Desk-1/ 22/2023

Date: 08-09-2023

## **E-QUOTATION NOTICE FOR E-TENDER**

- 1. Quotations in sealed covers are invited from the Contractors so as to reach the office of the undersigned at Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai-400 051. on or before 14/09/2023 upt 3.00 p.m. for the work of Refurbishment to Tehsildar's staff area at 5th floor 'C' wing at Slum Rehabilitation Authority, Administrative building, Bandra (East), Mumbai-400051.
- 2. The estimated cost of the work is Rs. 9,94,569/- (Rupees nine lakhs ninety four thousand five hundred and sixty nine Only).
- 3. The quotations in sealed cover shall be addressed to the Executive Engineer Maint/SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. The blank quotations can be downloaded from the tender section of SRA website <a href="https://www.sra.gov.in">www.sra.gov.in</a> from <a href="https://www.sra.gov.in">0.6</a> /0.9/2023 to <a href="https://www.sra.gov.in">14/0.9/2023</a> upto 3.00 p.m.
- 4. The quotationer shall quote in ink his percentage offer above/below or at par the estimated cost both in figures and words. The quotation should be submitted in a single sealed Envelope containing forwarding letter, quotation notice and duly filled Schedule-B and signed on each page.
- 5. The name of work for which quotations have been given should be stated clearly on the envelope containing the quotation and name of Contractor should be written on lower left of envelope.
- 6. The sealed quotation will be received by the office of Executive Engineer Maint./SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. upto 3.00 p.m. by 14 09 /2023 and will be opened at 3.30 p.m. on the same day as far as possible in the presence of the contractors/their representatives whosoever remain present at that time.
- 7. The quantities as shown in Schedule 'B' are approximate. The payment will be made as per actual quantity of work done.
- 8. The acceptance of quotation shall rest with the competent authority who reserves the right to reject any or all the quotations without assigning any reason for doing so.
- 9. The quotation submitted by the quotationer shall be binding on him for a period of 60 days from the last date of receipt of quotation.
- 10. No alternation in the form of quotation or schedule of quantities, specifications shall be entertained.
- 11. The entire work is to be completed within 30 days.
- 12. The work shall be carried out in accordance with I.S. specifications for the particular items and as per the detailed specifications mentioned in Schedule-B.
- 13. The rates quoted shall be inclusive of all taxes, Octroi Duty and free delivery at site of work and nothing extra shall be paid on any account.
- 14. The quotationer is advised to visit and examine the site of work and its surroundings before quoting the rate and acquaint themselves with the site conditions.

C-19/N

- 15. The contractor will have to make his/ their own arrangement at his/their cost for office and stores and safeguard the materials brought on the work and the materials issued by the department if any.
- 16. The contractor shall provide all labours, tools, pegs, watering and all other materials as required for line out and setting out the layout etc. for the work without claiming any payment.
- 17. After the completion of the work, the contractor shall remove forthwith all his/ their serviceable and un-serviceable materials from site of work and other debris shall be dumped and levelled as ordered within the scope of work if so ordered without any extra cost.
- 18. No escalation shall be paid to the contractor.

Sd/-

**Executive Engineer** 

Slum Rehabilitation Authority

<b>Issued to:</b>			
M/s	ha.		

Copy to F.C/SRA for information.

Copy to A.E/ SRA, for information and necessary action.

Copy to notice board/SRA.

Copy to information technology department/SRA. For publishing quotation notice along with Abstract on SRA website

C-22/N



## SLUM REHABILITATION AUTHORITY

No: SRA/MAINT.SEC./DESK-1/ 23 /2023 Date: 08-09-2023

## **Abstract**

Subject:

Refurbishment to Tehsildar's staff area at 5th floor 'C' wing at Slum

Rehabilitation Authority, Administrative building, Bandra (East), Mumbai-

400051.

	Sr. No.	Description	Unit	Quantity	Quantity Rates (rs)	
	1.	Removing wooden or A.C. partition including frame work and stack-ing the materials as with all leads, lifts etc. complete.	sq.mt	33.15	42.0	1392
	2	Providing and fixing in position Gypsum board false ceiling with 12.5 mm thick Gypsum boards, screwed/fixed to the under structure of suspended G.I. Grid constructed and suspended from the	sq.mt	34	1857.5	63153
	3	Scrapping the old plastered internal surface with sand paper and coating the entire surface with mixture of whiting or glue and linseed oil including scaffolding etc. complete as directed.	sq.mt	76.9	37.8	2907
	4	Providing and applying plaster with plaster of paris in 6mm thickness to previously plaster surface in all position including preparing the surface scaffolding etc. complete.	sq.mt	42.9	151.2	6486
	5	Providing and applying Royale Luxury Emulsion of approved make on internal wall surface as detailed below Scrapping for surface with emery paper and wipe	sq.mt	76.9	288.8	22205
,	6	Partition providing and fixing low height partition at requiredn loaction having minimum 65 mm thick made by using 50 x 50mm (finished size) centerally providence teak wood CPTW section framing at 600 mm center to center etc complete work.	sq.mt	22.16	6684.0	148117
	7	Executive's Table @ 1800Lx900Dx750HT Providing & Fixing of Table @ 1800Lx900Dx750HT - TOP & GABLE END to be made of Membrane finish with soft water fall edges & curved panel & Decorated Anodized section MODESTY PANEL to be made of 18 mm thick Prelaminated particle board with PVC edge band as per drawing	Nos.	6	18092.6	108555
	8	providing and supplying foot rest below table as per approved typical drawing size and height using commercial ply wood 18 mm thick etc complete work		4	1680.0	6720
	9	Storage full height providing and fixing 53cm deep cupboard type storage unit made up of 19 mm thick marine ply wood of the requisite manufacturer generally confirming I.S 710-1980	sq.mt	22.41	18775	420748

C-23/N

11	Drawers as per drawing.	300		9454.2		
-11	CORNER GLASS 9" TO 12"	Nos.	1	1250.0	1250	
12	Providing and fixing 34 mm thick moulded door shutter consisting of solid core single leafflush door of 30 mm thickness lipped with 15 mm (5mm x 3).LABOUR RATE	SQ.MT	4.2	1094.1	4595	
	Total					
	CGST 9% SGST 9%					
	Total Amount					

I/We hereby agree to quote				to quote	9	% Above/Be	clow or At Par with the	estima	ated cost
put	to	the	tender.	Therefore,			1	(in	words)
				•	þ				

Sd/-

Executive Engineer

Slum Rehabilitation Authority